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Q.1. On September 11, 2001, two hijacked
aircrafts crashed to the World Trade Centre in
New York.

(a) two hijacked aircrafts

(b) on September 11, 2001

(c) crashed to the

(d) World Trade Centre in New York

Ans (C) Crashed over the” will be used instead of
“crashed to the”.
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Q.2 Select the most appropriate
synonym of the given word.
CURRENT

(a) antiquated

(b) uncommon

(c) old

(d) present

Ans.(d)
Sol. Current: belonging to the present time
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Q.3 Impossible or extremely difficult
understand.

(a) inaudible

(b) incomprehensible
(c) incompatible

(d) inevitable

Ans.(b) Sol. Inaudible: unable to be heard.

Incompatible: (of two things) so different in nature
as to be incapable of coexisting.

Inevitable: certain to happen; unavoidable.

to
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Q.4 He tried to prevent his friend to smoke.
(a) from smoking
(b) No improvement
(c) smoking

(d) to smoking

Ans.(a) Sol. Prevent from + gerund is used.
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Q.5 Select the most appropriate meaning

of the given idiom.

Tit for tat

(a) to reward people for the good done
(b) to do harm as done to you

(c) to make someone angry

(d) to take advantages of someone

Ans. (b) to do harm as done to you
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Q.6 Select the most appropriate meaning of
the given idiom.
Bite your tongue

(a) talk for a long time

(b) be impossible to be understood
(c) get bruises in the mouth

(d) stop yourself from saying something

Ans. (d) stop yourself from saying something
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Q.7 The boys were delighted on the
idea of going to Goa.
(a) at the idea of

(b) on an idea of

(c) at an idea of

(d)No improvement

Ans.(a)
Sol. The correct preposition to be used here is “at”.
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Q.8 Municipal corporations have started to take

of the problems of waste management.

(a) perception
(b) cognizance
(c¢) knowledge
(d) attention

Ans.(b) Sol. Cognizance: knowledge or awareness. “To
take cognizance of” is used to signify that you

have taken something in consideration and

warlina an 3t
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Q.9 Select the most appropriate
antonym of the given word.
JEOPARDIZE

(a) threaten

(b) imperil

(c) protect
(d)hazard

Ans.(c) protect
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Q.10 Select the wrongly spelt word.
(a) curious
(b) curse

(c) curry
(d) Cursore

Ans.(d)
Sol. Cursor is the right spelling.
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11. I was (A)/ at loss (B)/ and did not know
what to do. (C)/ No error (D)

Answer: (b) At a loss = puzzled or uncertain
what to think, say or do; baffled.
Hence, at a loss .... should be used.
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12. The two first chapters of the book (1)/are
very interesting, (2)/the remaining ones are
boring. (3)/No error (4)

Answer: (a) It is order related error. Ordinal will come
before numeral. Hence, The first two ..... should be
used.
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13. The doctor says that (A)/ the patient will
recover (B)/ in few days. (C)/ No error (D)

Answer: (¢) a few (Adj., Det.) : a small number of
things.
Hence, in some/a few days is the right usage.
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14. One of my friend (1)/ has gone (2)/
to Canada. (3)/ No error (4)

Answer: (a)
One of is followed by Plural Noun/Pronoun.
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15. Florence Nightingale (1)/ was called (2)/
Lady with the lamp. (3)/ No error (4)

Answer: (¢) Here, certainty is evident.
Hence, the Lady with the lamp is the right

usage.
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16.Children must be......... to their parents.
(1) obedient
(2) obeying
(3) obey

(4) obeyed
(SSC CGL Tier-I (CBE) Exam. 02.09.2016 (IInd sitting)

1. (1) obedient (Adj.) : willing to obey: submissive to authority.
Here, obedient is the right option.



17. Every  minister is........ to
Parliament.

(1) responsive

(2) response

(3) responsibility

(4) Responsible
(SSC CGL Tier-I (CBE) Exam. 02.09.2016 (IInd sitting)

2. (4) responsible : involving important duties.

Here, responsible is the right option
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18. She had a ....... talk with her friend.
(1) hard to hard

(2) heart to heart
(3) hard to heart

(4) heart to hard
(SSC CGL Tier-I (CBE) Exam. 02.09.2016 (IInd sitting)

(2) heart to heart: in good heart:
happy and cheerful Here, heart to heart is the right option.
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19. The police is....... on his activities.
(1) keeping an eye
(2) keeping watchful eyes

(3) keeping both eyes

(4) keeping one eye
(SSC CGL Tier-1 (CBE) Exam. 03.09.2016 (Ist sitting)

(1) keep an eye (Is.) to take care of something Here,
'keeping an eye is the right option
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20. Are you......stamp collecting?
(1) interested by
(2) interested In
(3) interested at

(4) interested about
(SSC CGL Tier-I (CBE) Exam. 03.09.2016 (Ist sitting)

(2) interested agrees with Preposition-in.
Look at the sentence: I am very interested in history.

Here, interested in is the right option.
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21. Your report........ my statement.
(1) Conforms

(2) Conforming

(3) Confirms

(4) Comforting
(SSC CGL Tier-I (CBE) Exam. 03.09.2016 (Ist sitting)

6. (3) confirm (V.) : to state that something is definitely true.

Here, confirms is the right option.



SSC CHSL 2022-23

22. Everything ......... carefully checked.
(1) has been

(2) have been
(3) are being

(4) is been
(SSC CGL Tier-I (CBE) Exam. 04.09.2016 (Ist sitting)

(1) Everything is a Singular Subject. Hence,

has been (Passive) is the right option.




23.1've .......
(1) about

(2) nearing
(3) towards

(4) almost
(SSC CGL Tier-1 (CBE) Exam. 04.09.2016 (Ist sitting)

(4) almost (Adv.) : not quite: nearly.

Here, almost is the right option.
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24. The passengers were afraid, but the
captain...... them that there was no danger.
(1) promised
(2) advised
(3) Assured
(4) counselled

12. (3) assure (V.) : to make sure : guarantee.

Here, assured is the right option.



25. 1 haven't seen you ...... a week.
(1) within

(2) since

(3) for

(4) from

13. (3) To express period of time for should be used.
Here, for is the right option.
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Home Work Answer

—/

I will have (1)/ both the blue (2)/ or
the black pen. (3)/ No error. (4)

a) both the blue
b) or the black pen.

¢) I will have

d) No error.
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D Home Work 7

One of the reasons the impressionists
caused such a scandal was....... their
colours were too bright.

(1) because of which

(2) due to

(3) because

(4) Of
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